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Find the marked angles, and 

give a geometric reason for each.

a = ______   Reason:_____________________________________________________________


        _____________________________________________________________

b = ______   Reason:_____________________________________________________________


        _____________________________________________________________

c = ______   Reason:_____________________________________________________________



        _____________________________________________________________

[image: image2.bmp][image: image3.wmf]
d = ______   Reason:_____________________________________________________________



        _____________________________________________________________

e = ______   Reason 1:___________________________________________________________



        _____________________________________________________________

          Reason 2:___________________________________________________________



        _____________________________________________________________

f = ______   Reason:_____________________________________________________________



        _____________________________________________________________

g = ______   Reason:_____________________________________________________________



        _____________________________________________________________

h = ______   Reason:_____________________________________________________________

Mr Walker is doing some photocopying and has produced these results. Carefully describe the transformation which has happened in each.
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4)  Carefully describe THREE different transformations in this design:



US 5229 Revision (B)
1) Find the unknown lengths in these similar figures. Show WORKING for each.





2) ABCD is a rectangle.

Find the marked angles, and 
give a geometric reason for each.

d = ______   Reason:_____________________________________________________________



        _____________________________________________________________

e = ______   Reason:_____________________________________________________________


        _____________________________________________________________

f = ______   Reason:_____________________________________________________________



        _____________________________________________________________

g = ______   Reason:_____________________________________________________________



        _____________________________________________________________

3) WXYZ is a parallelogram
h = ______   Reason:_____________________________________________________________



        _____________________________________________________________

i = ______   Reason:_____________________________________________________________


        _____________________________________________________________

j = ______   Reason:_____________________________________________________________



        _____________________________________________________________

k = ______   Reason:_____________________________________________________________



        _____________________________________________________________

4) What is the sum of the interior angles of an OCTAGON?

5) Draw the lines of symmetry in these shapes
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